

$$\underline{\text{Ex:}} \quad \frac{d}{dx} \sqrt{x} = \frac{1}{2} x^{\frac{1}{2}-1} = \frac{1}{2} \cdot x^{-\frac{1}{2}} = \frac{1}{2} \cdot \frac{1}{\sqrt{x}}$$

$\parallel$
 $x^{\frac{1}{2}}$

$$\frac{d}{dx} \sqrt{x^2+1} = y \quad x \rightarrow u \rightarrow y$$

$\parallel$
 u

$$\frac{dy}{dx} = \frac{dy}{du} \frac{du}{dx}$$

$$\frac{d}{dx} \sqrt{u(x)} = \left(\frac{d}{du} \sqrt{u} \right) \cdot \frac{du}{dx} = \frac{x}{\sqrt{u}} = \frac{x}{\sqrt{x^2+1}}$$

$\parallel$
 $\frac{1}{2} \cdot \frac{1}{\sqrt{u}}$ $\parallel$
 $2x$

$$\underline{\text{Ex:}} \quad y = \cos\left(x^{\frac{1}{3}}\right) = \cos(u) \quad \boxed{\frac{dy}{du} = -\sin(u)}$$

$\parallel$
 u

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = -\sin u \cdot \frac{1}{3} x^{\frac{1}{3}-1} = -\frac{1}{3} \sin(x^{\frac{1}{3}}) \cdot x^{-\frac{2}{3}}$$

$$\underline{\text{Ex:}} \quad y = e^{(2x^2+1)} = u \quad \frac{du}{dx} = \frac{d}{dx} (2x^2+1) = 4x + \left(\frac{d}{dx} 1 \right)$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = e^u \cdot (4x) = e^{2x^2+1} \cdot (4x) = 4x \cdot e^{2x^2+1}$$

$$\underline{\text{Ex:}} \quad y = \ln(\sin(2x)) = u \quad \frac{du}{dx} = \frac{d}{dx} \sin(2x) = \frac{d}{dv} \sin(v) \cdot \frac{dv}{dx}$$

$\parallel$
 v

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{1}{u} \cos(2x) \cdot 2 = \frac{2 \cdot \cos(2x)}{\sin(2x)}$$

$= \cos(v) \cdot 2$
 $= \cos(2x) \cdot 2$

$$\left(x \rightarrow \overset{2x}{v} \rightarrow \overset{\sin(v)}{u} \rightarrow \overset{\ln(u)}{y} \quad \frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dv} \cdot \frac{dv}{dx} \right)$$

Ex: $y = \ln\left(\frac{x}{2x+1}\right)$ $\frac{du}{dx} = \frac{1 \cdot (2x+1) - x \cdot 2}{(2x+1)^2}$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{1}{u} \cdot \frac{1}{(2x+1)^2}$$

$$= \frac{2x+1}{x} \cdot \frac{1}{(2x+1)^2} = \frac{1}{x(2x+1)} \quad \frac{d\left(\frac{1}{g}\right)}{dx} = \frac{-g' \cdot \frac{1}{g^2}}{g^2}$$

$$y = \ln\left(\frac{x}{2x+1}\right) = \ln x - \ln(2x+1)$$

$$\frac{dy}{dx} = \frac{1}{x} - \frac{2}{2x+1} = \frac{2x+1-2x}{x(2x+1)} = \frac{1}{x(2x+1)}$$

Ex: $y = \cos^3(\sqrt{x-2}) = \underbrace{\left(\cos(\sqrt{x-2})\right)^3}_{u^3} = u^3$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$= 3u^2 \cdot (-\sin(v)) \cdot \frac{1}{2\sqrt{x-2}}$$

$$= 3(\cos\sqrt{x-2})^2 \cdot (-\sin\sqrt{x-2}) \cdot \frac{1}{2\sqrt{x-2}}$$

$$= -\frac{3}{2} \frac{\cos^2(\sqrt{x-2}) \cdot \sin(\sqrt{x-2})}{\sqrt{x-2}}$$

$$\cos(v) = u = \cos(\sqrt{x-2})$$

$$\frac{dy}{du} = \frac{d}{du} u^3 = 3u^{3-1} = 3u^2$$

$$\frac{du}{dx} = \frac{du}{dv} \cdot \frac{dv}{dx} = -\sin(v) \cdot \frac{1}{2\sqrt{x-2}}$$

$$\frac{dv}{dx} = \frac{d}{dx} \sqrt{x-2} \quad w$$

$$= \left(\frac{d}{dw} \sqrt{w} \right) \cdot \frac{dw}{dx}$$

$$= \frac{1}{2} w^{\frac{1}{2}-1} \cdot 1 = \frac{1}{2\sqrt{w}} = \frac{1}{2\sqrt{x-2}}$$

$$w = x-2 \quad \frac{dw}{dx} = \frac{d}{dx} x - \frac{d}{dx} 2 = 1$$

$$y = \cos^3(\sqrt{x-2})$$

$$= (\cos \sqrt{x-2})^3$$

$$= 3 (\cos \sqrt{x-2})^2 \cdot \frac{d}{dx} \cos(\sqrt{x-2})$$

$$= 3 (\cos^2 \sqrt{x-2}) (-\sin(\sqrt{x-2})) \cdot \frac{d}{dx} \sqrt{x-2}$$

$$= 3 \cos^2 \sqrt{x-2} \cdot (-\sin \sqrt{x-2}) \cdot \frac{1}{2} (x-2)^{-\frac{1}{2}} \frac{d}{dx} (x-2)$$

$$= -\frac{3}{2} \cos^2 \sqrt{x-2} \cdot \sin(\sqrt{x-2}) \cdot \frac{1}{\sqrt{x-2}}$$

Ex: $y = \cos(\ln(\sin^2(x)))$

$$\frac{dy}{dx} = -\sin(\ln(\sin^2 x)) \cdot$$

$$\frac{1}{\sin^2 x} \cdot 2 \cdot \sin(x) \cdot \cos(x)$$

$$\begin{array}{ccccccc} \sin & & & & \ln & & \cos \\ x \rightarrow \sin x \rightarrow \sin^2 x \rightarrow \ln(\sin^2 x) \rightarrow \cos(\ln(\sin^2 x)) \\ \leftarrow & \leftarrow & \leftarrow & \leftarrow & \leftarrow & \leftarrow & \leftarrow \\ & & & & & & y \end{array}$$

$$y = f(x) \quad \frac{df}{dx} = f' = \frac{dy}{dx}$$

" "
 $\frac{d}{dx} f$

$$f'' = \frac{d}{dx} f' = \frac{d}{dx} \frac{d}{dx} f$$

$$\frac{d^2}{dx^2} f$$



$$f''' = \frac{d}{dx} f'' = \frac{d}{dx} \frac{d}{dx} \frac{d}{dx} f$$

$$\frac{d^3}{dx^3} f$$

$$\frac{d^2}{dx^2} y = \frac{d}{dx} y'$$

Ex: $y = e^{(4x^{-1})}$, $y'' = ?$

$$\begin{aligned} \frac{dy}{dx} &= e^u \cdot \frac{du}{dx} = e^u \cdot 4(-1) \cdot x^{-1-1} \\ &= -4 \cdot x^{-2} \cdot e^{4x^{-1}} \end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d}{dx}(-4x^{-2} \cdot e^{4x^{-1}})$$

y''

$$\frac{d}{dx}(-4x^{-2}) \cdot e^{4x^{-1}} + (-4x^{-2}) \cdot \frac{d}{dx} e^{4x^{-1}}$$

$$8x^{-3} e^{4x^{-1}} - 4x^{-2} \cdot (-4x^{-2}) e^{4x^{-1}}$$

11

$$8x^{-3} e^{4x^{-1}} + 16x^{-4} e^{4x^{-1}}$$

11

$$e^{4x^{-1}} \cdot 8x^{-4} \cdot (x+2)$$

Implicit differentiation.

$y = f(x)$ explicit function.

$$\textcircled{y^2 + x^2 = 1} \Rightarrow y^2 = 1 - x^2$$

$\Downarrow$

$$\boxed{y = \pm \sqrt{1 - x^2}}$$

• $y^3 - y^2x + 1 = 0 \Rightarrow y = ?$

• $y - \cos(y+x) = 0 \Rightarrow y = ?$

$F(x, y) = 0 \Rightarrow$ define y implicitly
as a function of x .

$$y^2 + x^2 = 1$$

$$\underline{y(x)^2 + x^2 = 1}$$

$$\frac{d}{dx}(y(x)^2 + x^2) = \frac{d}{dx}1 = 0$$

$$\frac{d}{dx}(y(x)^2) + \frac{d}{dx}x^2 \Rightarrow \underline{2y \cdot y' + 2x = 0}$$

$$\underline{2 \cdot y \cdot y'}$$

$$2x$$

$$y \cdot y' = -x$$

$\Downarrow$

$$\boxed{y' = -\frac{x}{y}}$$